Intro to Digital Fabrication

Electronics Problem Set 1

1 |usethe following circuits to practice analyzing series resistance. Determine the
requested information and sketch the minimized equivalent circuit
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2 | Use the following circuits to practice analyzing parallel resistance. Determine the
requested information and sketch the minimized circuits.
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Is the total resistance larger than the largest single resistor or smaller than the smallest
resistor? Is this what you would have expected?
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Does the total current equal the sum of the currents through each resistor?
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Analyze the circuits to determine the following. Sketch the minimized equwaient circuit. [_, g
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4 Determine the value for the missing component in the following circuits.
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5 | Calcolate the equivalent resistance of the following | g | Calculate the equivalent sesistance R and the total
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Find the equivalent resistance for the following set of

connected resistors:
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